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Unit-1  bdkbZ&,d 

Q.1.  f} izfof’V iz.kkyh D;k gS\ f}&izfo’V iz.kkyh ds ykHkksa ,oa egRo dks le>kb;sA 

What is Double Entry Systems? Discus the advantages and importance of 

Double Entry System. 

OR ¼;k½ 

fuEufyf[kr fooj.k ls ys[kkadu lehdj.k cukbZ;s  

1- dju us 70]000#- jksdM ls O;kikj izkjaHk fd;kA 

2- veu ls 25000#- eky uxn o 40]000#- dk eky m/kkj [kjhnkA 

3- 15]000#- dh ykxr dk eky 20]000#- esa udn cspkA 

4- 8]000# dh ykxr dk eky 12]000# esa xksiky dks m/kkj cspkA 

5- veu dks 20]000# pqdk;k o 1000#- cV~Vk fn;kA 

6- xksiky ls 10]000# izkIr gq, ,oa mUgsa 500#- cV~Vk fn;kA 

7- osru dk 2000#- pqdk, ,oa 500#- osru vnRr gSA 

Prepare Accounting equation from the followings- 

1. Karan Commenced business with cash Rs.70,000. 

2. He purchased good from Aman Rs.25000 for cash and Rs.40000 on 

credit. 

3. He sold goods for cash Rs 20000 costing Rs 15000. 

4. Good costing Rs 8000 sold to gopal on credit Rs 12000 

5. Paid cash to Aman Rs 20000 and discount received from him Rs 1000. 

6. Received cash from Gopal Rs 10000 and he is given discount Rs 500. 

7. Paid salary Rs 2000 and Salary outstanding is Rs 500. 

 

Unit-2  bdkbZ&nks 

Q.2.  ijh{kk lwph D;k gS\ bls fdl izdkj cuk;k tkrk gS\ D;k ijh{kk lwph ys[kk  

iqLrdksa dh “kq)rk dk vpwd izek.k gS\ 



what is Trial Balance? How it is prepared? is it a concrete proof of accuracy of 

books of Accounts? 

OR ¼;k½ 

31 ekpZ 2020 dks Jh jes”k dh iqLrdksa ls fuEu “ks’k fy;s x;sA  

The following balance were extracted from the books of Ramesh on 31st March 

2020 

[kkrks dk uke Name of Acoounts Dr. Balance Cr. Balance 

Ø; ,oa foØ; (Purchase and 

Sales) 

96000 120000 

iwath (Capital) - 80000 

Lda/k 1 vizsy 2019 (Stock-1st April 

2019) 

20800 - 

Mqcr _.k (Bad debts) 2000 - 

osru (Salaries) 10000 - 

lkekU; O;; (Genral Expenses) 4800 - 

dj o chek (Tax & ansurance) 4000 - 

v”kks/; _.k izko/kku (Prov. for bad 

debts) 

- 3600 

vkxr okgu O;; (Carriage 

enwaords) 

1120 - 

vkgj.k  (Drawings) 12640 - 

gLrLFk jksdM (Cash in hand) 9280 - 

cSad esa jksdM (Cash in hand) 8000 - 

nsunkj o ysunkj (Debitors and 

creditors ) 

52800 15120 

izkIr deh”ku (Commission 

Received) 
- 4000 

fdjk;k (Rent) 1280 - 
;ksx (Total) 222,720 222,720 
 

fuEu rF;ksa dks lek;ksftr djrs gq, 31 ekpZ 2020 dks lekIr gksus okys o’kZ ds fy, Jh 

jes”k dh iqLrdks esa vafre [kkrs rS;kj dhft,A 

¼1½ vafre Lda/k & 28000# ¼2½ vfxze izkIr deh”ku 1200# ¼3½ vnRr fdjk;k 400# 

¼4½ iwoZnRr chek 240# ¼5½ Mwcr _.k 3000# ¼6½ nsunkjks ij Mwcr _.k ds fy;ss 5% 

izko/kku djuk gSA 

 



 After taking the following in to- 

Consideration prepare final Account in the books of shri ramesh for the year 

ended 31 march 2020  

(1) Closing Stock Rs 28000 (2) Advance Commission Rs 1200 (3) 

Outstanding Rent rs 400 (4) Prepaid insurance Rs 240 (5) Bad debits Rs 

3000. (6) Create provision for Bad debits at 5% on debitors. 

 

Unit-3  bdkbZ&rhu 

Q.3.  xSj O;kikfjd laLFkk ls D;k vk”k; gS \ xSj O;kikfjd laLFkk dh ys[kkadu 

izfØ;k dks le>kb;sA 

What do you mean by Non trading Institutions & Explain the accounting 

process of Non trading Institutions.  

Or ¼;k½  

,drk bUVjizkbtsl us 1 viSzy 2015 dks ,d e”khu 72]800 :- esa Ø; dh rFkk mlds 

LFkkiuk ij 2200 :- O;; fd;sA 1 vDVwcj 2015 dks 25]000 :- esa nwljh e”khu Ø; 

dh x;hA 1 vizSy 2016 dks igyh e”khu 50]000 :- esa csp nh xbZ rFkk mDr frfFk dks 

gh ,d u;h e”khu 45]000 :- dh ykxr dh Ø; dh xbZA àkl izfro’kZ 10 izfr”kr 

okf’kZd dh nj ls Øekxr àkl i)fr ls yxk;k tkrk gSA 1 viSzy 2017 dks QeZ us ;g 

fu.kZ; fy;k fd àkl 10 izfr”kr okf’kZd dh nj ls izkjaHk ls ewy ykxr ij yxk;k 

tk;sxkA 31 ekpZ 2018 rd e”khu [kkrk cukrs gq, e”khu dk ewY; Kkr dhft,A 

Ekta Enterprises purchased on 1 April 2015 a machinery for Rs. 72,800 and 

paid Rs. 2200 on its installation. On 1st October 2015 another machinery for Rs. 

25,000 was acquired. On 1st April 2016 the first machinery was sold for Rs. 

50,000 and on the same day a fresh machinery was purchased at a cost of Rs. 

45,000. Depreciation was annually provided on 31st march at 10% p.a. on 

written down value. On 1st April 2017. However the firm decided to change the 

method of providing depreciation @ 10 % p.a. on the original cost; with 

retrospective effect. Prepare Machinery A/c up to 31 March 2018 and find out 

the value of machinery. 

  



Unit-4  bdkbZ&pkj 

Q.4.  fdjk;k Ø; i)fr D;k gS \ bldh fo”ks’krk,a D;k gS \ blds ykHk ,oa gkfu;ka 

crkb;sA  

What is Hire Purchase system? What are its characteristics? Give its merits and 

demerits. 

Or ¼;k½  

ek:fr eksVj da- us jkds”k dks fdLr Hkqxrku i)fr ij ,d dkj csphA Hkqxrku lqiqnZxh 

ij 10]000 :- izFke o’kZ ds var esa 10]400 :-] f}rh; o’kZ ds var esa 9]600 :- ,oa 

r`rh; o’kZ ds var esa 8]800 :- C;kt lfgr fd;k tkuk gSA dEiuh 10 izfr”kr okf’kZd 

dh nj ls C;kt izHkkfjr djrh gSA ewy ykxr ij 10 izfr”kr okf’kZd àkl vifyf[kr 

fd;k tkrk gSA Øsrk dh iqLrd esa vko”;d [kkrk cukb;sA 

Maruti Motor Co. sold a motor car on Installment payment system to Rakesh. 

The terms of payment are Rs. 10,000 on delivery, Rs. 10,400 at the end of first 

year, Rs. 9,600 at the end of second year and Rs. 8,800 at the end of third year. 

The company charged interest @ 10% per annum. Depreciation is provided @ 

10% per annum an original cost. Prepare necessary ledger accounts in the books 

of purchaser.  

Unit-5  bdkbZ&ikap 

Q.5.  lk>snkjh QeZ ds ,dhdj.k ls D;k vk”k; gS \ blds mn~ns”;ksa] ykHkksa ,oa gkfu;ksa 

dk o.kZu dhft,A 

What is Amalgamation of partnership firm? Describe its objects, advantages 

and disadvantages.  

Or ¼;k½  

fuEufyf[kr fpV~Bk ,d lk>snkjh QeZ dk gSA  

The following is Balance sheet of partnership firm.  

nkf;Ro ¼Liabilities½ jkf”k lEifRr;ka ¼Assets½ jkf”k 

ysunkj ¼Creditor½ 10,000 fofo/k laifRr;ka ¼sundry Assets½ 30,000 

iwath [kkrk ¼Capital A/c½ 

A – 10000 

B –    5000 

C –    5000 

20,000   

 30,000  30,000 



 

lk>snkjh QeZ dk fo|Vu gks x;kA lEifRr;ksa ls fuEukafdr jkf”k;ka fdLrksa esa olwy 

gqbZ& izFke fdLr 10]000 :-] f}rh; fdLr 10]000 :- o vafre fdLr 5]000 :-A A, B 

o C lk>snkjksa dk ykHk foHkktu vuqikr 3 % 2 % 1 gSA vuqikfrd iwath fof/k ls jksdM+ 

forj.k dk fooj.k&i= rS;kj dhft,A 

The firm becomes dissolve. Assets are realized in installment in followings first 

installment Rs. 10,000 second installment Rs. 10,000 and last installment Rs. 

5,000. Profit sharing ratio of A, B and C is 3 : 2 : 1. Prepare a statement of 

Distribution of cash using proportional capital method. 


